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Quiz Date: 14th April 2020 

Directions (1-7): In the following questions, a sentence is divided into five different parts including 

two highlighted ones. The highlighted parts of the sentence are grammatically correct and do not 

require any correction. However, the remaining three parts may contain error in one or more than 

one parts of the sentence. Choose the best alternative among the five options given below each 

sentence that determines the portion(s) that requires correction to make the sentence 

grammatically correct.  

 
Q1. The United States is bracing for its (I)/tougher week yet as the death toll (II)/climbs before 
10,000 while across (III)/the Atlantic, British Prime Minister Boris Johnson has entered 
(IV)/intensive care after his COVID-19 symptoms worsen. (V) 
(I)Tougher week yet as the death toll  
(II)Climbs before 10,000 while across  
(III)Intensive care after his COVID-19 symptoms worse 
(a)Only (I) 
(b)Only (II) 
(c)Both (II) and (III) 
(d)Both (II) and (V) 
(e)No error 
 
Q2. Fresh enrolments under the countrys (I)/flagship skills training plan have been (II)/halted in 
the absence of a (III)/plans to switch over from the Pradhan Mantri Kaushal Vikas Yojana(IV)/ 2.0 
that ended on March 31 to its next version (V) 
(I) Fresh enrolments under the country's 
(II) Plans to switch over from the Pradhan Mantri Kaushal Vikas Yojana 
(III) 2.0 that ended on March 31 to its next version 
(a)Only (I) 
(b)Only (IV) 
(c)Both (I) and (IV) 
(d)Both (I) and (V) 
(e)No error 
 
Q3. Telecom companies have reach out (I)/to the government to allow a (II)/self-KYC process for 
issuing new SIM cards (III)/and port phone numbers digital with the Covid-19 induced lockdown 
(IV)/leaving no options for a physical visit to a store for such services (V) 
(I) Telecom companies have reached out 
(II) self-KYC process for issuing new SIM cards 
(III) And port phone numbers digitally with the Covid-19 induced lockdown 
(a)Only (I) 
(b)Only (III) 
(c)Both (I) and (III) 
(d)Both (I) and (IV) 
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(e)No error 
 
Q4. The government is working on a package to (I)/offer loans to state power distribution 
companies (II)/to help clear due of electricity generation (III)/plants to prevent blackouts as the 
(IV)/projects face a severe liquidity crisis (V) 
(I) offer loans to state power distribution companies 
(II) to help them clear dues of electricity generation 
(III) projects face a severe liquidity crisis 
(a)Only (II) 
(b)Only (III) 
(c)Both (III) and (V) 
(d)Both (II) and (III) 
(e)No error 
 
 Q5. Several mutual fund managers and advisors has been (I)/recommending investing in large 
cap mutual fund schemes in these (II)/uncertain times and they also believe that a likely 
(III)/broad-based rally will change the (IV)/fortunes of actively-managed large cap schemes in the 
coming months (V) 
(I) Several mutual fund managers and advisors have been 
(II) Uncertain times and they also believe that a likely 
(III) Fortunes of actively-managed large cap schemes in the coming months 
(a)Only (I) 
(b)Only (V) 
(c)Both (I) and (V) 
(d)Both (III) and (V) 
(e)No error 
 
Q6. Coronavirus has thrown life out of gear (I)/and made over a million school students at (II)/ 
India sit on home for an unknown number of days (III)/but thanks to technology, parents, 
students and schools have found (IV)/online classes the more conventional way to continue 
studies (V) 
(I) and made over a million school students in 
(II) India sit at home for an unknown number of days 
(III) Online classes the most conventional way to continue studies 
(a)Only (III) 
(b)Only (II) 
(c)Both (II) and (V) 
(d)Both (III) and (V) 
(e)No error 
 
Q7. The government plans to forecast crop (I)/output and yield every month to get regular (II)/ 
predictive analysis on the likely demand-supply (III)/situation and its impact on prices as the 
current system of (IV)/preparing forecasts every four months is inadequate (V) 
(I) The government plans to forecast crop 
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(II) Situation and its impact on prices as the current system of 
(III) Preparing forecasts every four months is inadequate 
(a)Only (I) 
(b)Only (IV) 
(c)Both (I) and (IV) 
(d)Both (I) and (V) 
(e)No error 
 
Directions (8-12): In each of the following questions four words are given, of which two words are 
most nearly the same or opposite in meaning. Find the two words which are most nearly the same 
or opposite in meaning and indicate the number of the correct letter combination. 
 
Q8.  
(A) Smooth  
(B) Unbridle  
(C) Comfort  
(D) Release  
  
(a)A and B 
(b)B and C 
(c)A and C 
(d)B and D 
(e)A and D 
 
Q9.  
(A) Arid  
(B) Humid  
(C) Reject  
(D) Unqualified  
  
(a)A and B 
(b)B and C 
(c)A and C 
(d)B and D 
(e)A and D 
 
Q10.  
(A) Equivocal  
(B) Tumble  
(C) Rise   
(D) Caution  
  
(a)A and B 
(b)B and C 
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(c)A and C 
(d)B and D 
(e)A and D 
 
Q11.  
(A) Bright  
(B) Penetrate  
(C) Unanimity  
(D) Perforate 
  
(a)A and B 
(b)B and C 
(c)A and C 
(d)B and D 
(e)A and D 
 
Q12.  
(A) Commiseration  
(B) Agreement  
(C) Informal  
(D) Indifference  
  
(a)A and B 
(b)B and C 
(c)A and C 
(d)B and D 
(e)A and D 
 

 
 
 
Directions (13-17): In the following question, a sentence is given with four bold words. The 
position of these words may be incorrect. Four options with different arrangements are provided. 
Mark your answer as the correct arrangement. If there is no any rearrangement required, make 
‘No Interchange’ as your answer. 
 

https://www.adda247.com/product-testseries/4506/sbi-clerk-mains-2020-online-test-series
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Q13. In an online need (A) with access to unlimited information, the focus on appropriate (B) 
things loses its meaning, and is replaced by the environment (C) to know how to select and use 
the information memorizing (D) to each context. 
(a) BCAD 
(b) DCAB 
(c) CDAB 
(d) ACBD 
(e) No Interchange 
 
Q14. Biofouling is the devastating (A) of submerged colonization (B) by microorganisms that can 
have surfaces (C) effects on artificial devices (D) used in different fields. 
(a) BCAD 
(b) DCAB 
(c) CDAB 
(d) ACBD 
(e) No Interchange 
 
Q15. The Indian government drug (A)  that it would be easing export potentially (B) on 
hydroxychloroquine, the restrictions (C) that President Trump has mentioned may announced (D) 
help fight against Coronavirus. 
(a) BCAD 
(b) DCAB 
(c) CDAB 
(d) ACBD 
(e) No Interchange 
 
Q16. India will make its manufacturing (A) as a growing market, potential clinical (B) or partner in 
mark (C) and R&D, and as a location for competitor (D)trials. 
(a) BCAD 
(b) DCAB 
(c) CDAB 
(d) ACBD 
(e) No Interchange 
 
Q17. Creditworthiness is how a obligations (A), measures how likely you are to receive (B) on 
your debt default (C) or how worthy you are to lender (D) new credit. 
(a) BCAD 
(b) DCAB 
(c) CDAB 
(d) ACBD 
(e) No Interchange 
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Directions (18-20): In the following questions a paragraph is given with two blanks. The paragraph 
is then provided with five options which consist of the words that can fill the given blanks. Choose 
that option as your answer which can fill the given blanks in the exact order as given in the option. 
If none of the given options fills the given blanks then choose option (e), ‘None of these’ as your 
answer. 
 
Q18. Many health systems have _____________ to keep pace with the virus _____________the 
globe, and public health officials, doctors and scientists have called for more and better testing. 
(a) Emancipated, Contradict 
(b) Struggled, Sweeping  
(c) Liberator, Encircled  
(d) Erroneous, Resuscitate 
(e) None of these  
Q19. Underlying the _____________of efforts underway is the reality that most drugs in 
development are _____________unsuccessful. 
(a) Multitude, Ultimately  
(b) Kempt, Inattentive  
(c) Caution, Unconditional  
(d) Plunge, Qualified  
(e) None of these  
 
Q20. Medical devices can often play a vital role in the treatment of a _____________of ailments 
and are meant to substitute, or restore, _____________functions. 
(a) Force, Strain  
(b) Sneak, Burden  
(c) Empathy, Humane 
(d) Myriad, Biological  
(e) None of these 

https://www.adda247.com/product-comprehensive-video/4010/sbi-clerk-mains-2020-video-course


Bankersadda.com English Language Quiz for SBI Clerk Mains 2020 Adda247.com 

 
 
 
 

Solutions  
S1. Ans. (c)  
Sol. Here, error lies in part (II) and (III) of the statement. In part (II), “above” will be used instead 
of “before”. In part (III), “Worsened” will be used instead of worse. Hence, option (c) is the right 
answer choice.  
 
S2. Ans. (c)  
Sol. Here, the error lies in part (I) and (IV) of the statement. In part (I), countrys will be replaces 
by “country’s”. In part (IV), “plans” will be replaced by “plan”. Hence, option (c) is the right 
answer choice.  
 
S3. Ans. (d) 
Sol. Here, error lies in part (I) and (IV) of the statement. In part (I), “reach” will be replaced by 
“reached”. In part (IV), “digital” will be replaced by “digitally”. Hence, option (d) is the right 
answer choice.  
 
S4. Ans. (b) 
Sol. Here, the error lies in part (III) of the sentence. “due” will be replaced by “dues”. Hence, 
option (b) is the right answer choice.  
 
S5. Ans. (a) 
Sol. Here, error lies in part (I) of the statement. “has” will be replaced “have”. Hence, option (a) is 
the right answer choice.  
 
S6. Ans. (c)  
Sol. Here, error lies in part (II) and (V) of the statement. In part (II), “on” will be replaced by “in”. 
In part (V), “more” will be replaced by “most”. Hence, option (c) is the right answer choice.  
 
S7. Ans. (e)  
Sol. Here, all the parts of the given statement are grammatically and contextually correct and 
there is no error. Hence, option (e) is the right answer choice.  

https://www.adda247.com/product-onlineliveclasses/4533/sbi-clerk-mains-2020-bilingual-live-classes
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S8. Ans. (d) 
Sol. Here, Unbridle and Release are nearly same in meaning. Hence, option (d) is the right answer 
choice.  
 
S9. Ans. (a) 
Sol. Here, Arid and Humid are nearly opposite in meaning. Hence, option (a) is the right answer 
choice.  
 
S10. Ans. (b) 
Sol. Here, tumble and rise are nearly opposite in meaning. Hence, option (b) is the right answer 
choice.  
 
S11. Ans. (d) 
Sol. Here, Penetrate and Perforate are nearly same in meaning. Hence, option (d) is the right 
answer choice.  
 
S12. Ans. (e)  
Sol. Here, commiseration and indifference are nearly opposite in meaning. Hence, option (e) is 
the right answer choice.  
 
S13. Ans. (c)  
Sol. The correct rearrangement of the highlighted words is CDAB. The sentence after 
rearrangement is “In an online environment (C) with access to unlimited information, the focus on 
memorizing (D) things loses its meaning, and is replaced by the need (A) to know how to select and 
use the information appropriate (B) to each context” 
Hence, option (c) is the right answer choice.  
 
S14. Ans. (a) 
Sol. The correct rearrangement of the highlighted words is BCAD. The sentence after 
rearrangement is “Biofouling is the colonization (B) of submerged surfaces (C) by microorganisms 
that can have devastating (A) effects on artificial devices (D) used in different fields.”  
Hence, option (a) is the right answer choice.  
 
S15. Ans. (b) 
Sol. The correct rearrangement of the highlighted words is BCAD. The sentence after 
rearrangement is “The Indian government announced (D) that it would be easing export 
restrictions (C) on hydroxychloroquine, the drug (A) that President Trump has mentioned may 
potentially (B) help fight against Coronavirus.” 
Hence, option (b) is the right answer choice.  
 
S16. Ans. (c)  
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Sol. The correct rearrangement of the highlighted words is BCAD. The sentence after 
rearrangement is “India will make its mark (C) as a growing market, potential competitor (D) or 
partner in manufacturing (A) and R&D, and as a location for clinical (B) trials.” 
Hence, option (c) is the right answer choice.  
 
S17. Ans. (b) 
Sol. The correct rearrangement of the highlighted words is BCAD. The sentence after 
rearrangement is “Creditworthiness is how a lender (D) measures how likely you are to default 
(C) on your debt obligations (A), or how worthy you are to receive (B) new credit.” 
Hence, option (b) is the right answer choice.  
 
S18. Ans. (b) 
Sol. Struggled and sweeping can fill the given blanks in the exact order as given in the options. 
Hence, option (b) is the right answer choice.  
 
S19. Ans. (a) 
Sol. Multitude and ultimately can fill the given blanks in the exact order as given in the options. 
Hence, option (a) is the right answer choice.  

 
S20. Ans. (d) 
Sol. Myriad and Biological can fill the given blanks in the exact order as given in the options. 
Hence, option (d) is the right answer choice.  
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